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Practice essay questions

1. ‘The Conservatives lost the February 1974 election solely over economic management’
Explain why you agree or disagree with this view.


2. ‘Wilson’s Social Contract stood no more chance of calming and regulating industrial relations than the Conservatives’ Industrial Relations Act’.
Explain why you agree or disagree with this view.


3. ‘Bloody Sunday was the point at which the situation in Northern Ireland slipped out of political control’. 
Explain why you agree or disagree with this view.


4. ‘The high level of immigration in the 1970s had a major impact on British society’.
Explain why you agree or disagree with this view.


5. ‘Heath’s reasons for Britain joining the EEC were idealistic; Wilson’s reasons for holding a referendum were pragmatic’.
Explain why you agree or disagree with this view.



